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Question Number : 1 Question Id : 872834756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If(x+3, 4—y) = (1, 7),then (x—3, 4+ y)isequalto
(x+3, 4—y) = (1, 7Veons(x—3, 4+ ) B 350530358

Options :

(=51
2 (5.)
3% (=3.8)

. (32)

Question Number : 2 Question Id : 872834757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of factors of 480 is
480 ::T:';;:EL_ TlrroTo ﬁca:g}

Options :

L x 12

14

L« 18

4w 24

Question Number : 3 Question Id : 872834758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A= {a, k, m}and B = {b, k, p} then disjoint sets among the following are
A= {a, k, m}8c5sB = {b, k, plecniss $cd mBS c80Y HASsen

Options :

L, AUB, A



,«ANB, B
., A—B, AnB

.. AUBANB

Question Number : 4 Question Id : 872834759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If —1 is a zero of the polynomial p(x) = x? — 7x — 8 , then the other zero of it is
p(x) = x* —7x — 8 wirosdd 2% &g —1 wons 367 drgEn

Options :

sv 8

Question Number : 5 Question Id : 872834760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The value of log,q 343 1s
log o 343 &%y, dess

Options :

Question Number : 6 Question Id : 872834761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the pair of equations 3x — y + 8 = 0 and 6x — ky = —16 represent coincident
lines, then the value of 'k’ 1s

3x—y+8=0m00aw 6x —ky = —16 3oxtemo 58 Digled Tepow 00h K e



Options :

Question Number : 7 Question Id : 872834762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A quadratic equation whose roots are /3 and — v/31is
V3 woaw — V3 o Sarereom Ko SEsNostes

Options :
x2=3=0
1.¢
- x?=-9=0
2. %
L XE—1=0

L x2—=+3=0

Question Number : 8 Question Id : 872834763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, an equation that has no (Real) roots 1s
S1 3ob 2ES (TH3) Srered B SYIWETe
Options :
X2 —4x+4=0

1. ®

x2—4x+3=0

2. %

x> +4x+3=0

3. %

v X2 +4x+6=0

Question Number : 9 Question Id : 872834764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the given figure, ‘O’ 1s the center of the circle. If ZQPR = x° and ZORQ = y°,
then the relationbetween x° and y° is

3Q)s deed’, Hg Jowe ‘0’. LQPR = x°woats LZORQ= y° ey X° 5:8em: y°

T’..nc‘.ﬁéﬁ@ Seomedisn

Options :
. X4 y°=120°
L. X°+y°=180°

Lo X+ Y =90°

. x XY= 150°

Question Number : 10 Question Id : 872834765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If perimeters of two equilateral triangles are 20 cm and 30cm. then the ratio of
their areas i the same order 1s

Toll ddowrdv |@ghere iﬁ:éﬁi"eéw Stonm 20 e Do 8 30 o Do wowy =86

Eed® a8 Iverge Y

Options :
2213
, % 3t 2
o4 9
ix9: 4

Question Number : 11 Question Id : 872834766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ifk+2 4k—6and3 k+ 2 are in Arithmetic Progression, then the value of 'k’ 1s
k+2, 4k —6508as 3 Kk + 2o wof 3¢S° &8 'k dens



Options :

1. ® 1

3.533

4.\'/4

Question Number : 12 Question Id : 872834767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Rs.1050 is distributed among A, B and C in the ratio of 3 : 5 : 7, then the share of
A 1s (in Rupees)

1050 gorapoms A, B 08655C 093 : 5: 734986 5008 A aér ((rFrabed’)
Options :

|« 270
L« 103
s % 350

4 210

Question Number : 13 Question Id : 872834768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the angles of a quadrilateral are in the ratioof 2 : 4 : 5 : 7, then the difference
between the measures of its largest and the smallest angles 1s

2% IS e SFero MG 2: 4 5 7 wond IS ©d BY 0oan ©d IY) Fero
';J‘.’.ﬁé Fe

Options :

1. % 20°
)« 80°
. 100°

s« 140°

Question Number : 14 Question Id : 872834769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



IfA (-3, 4),Pand B (5, 6) are points on a straight line, then the coordinates

of point P such that AP = PB 1s

A (=3, 4),Ps:8ci0 B (5, 6)en 23 $5¢ Tvp Dothipesr sawd AP = PB eibitn ol
P 9oty iz

Options :

@5

L« (2,10)
@ 9)

.. (1,10)

Question Number : 15 Question Id : 872834770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 2 sin @ = /3. then the value of cos fis
2 sin 8 = V3ee»5c0S 82e0s
Options :

Question Number : 16 Question Id : 872834771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If two unbiased coins are tossed simultaneously, then the probability of getting
exactly one Head 1s

Tots IR Hods w3P0 BEIBIPE, PYFom 3 5 oSEE o Soprlyd
Options :

1.330

[\]
®
b | =



ST =

W | W

Question Number : 17 Question Id : 872834772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If two cubes each of edge 3cm are joined end to end, then the surface area of the
Resulting cuboid is (in cm?)

B BSsPode voth P 3 We. M. o Totd BPTrond wotbes TEISE SR bﬁJé?&
Lgove ¢s8Se Imwge (& e 2 o&F)

Options :

v 90

Question Number : 18 Question Id : 872834773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If mean of the observations 4, 6, 8, 10, x, 14, 16 1s 10, then the value of ‘x’ is
4,6,8,10,x,14,16 odeo K0 10escns ‘X Jens

Options :

w11

12

2. %
; x 13

9

4. %

Question Number : 19 Question Id : 872834774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If PQRS is a rectangle, then the area of the shaded region is (in cm?)
PQRS wx é%ﬁﬁbb’@’ao 0y BE Sahnds (o Be'eaéa (S e 2 o)

pr— 4ecm —= A 5'I
Iem

6 cm l

N

Q R

B om

Options :

1.\-f18
, » 20

16

3. %

4 % 10

Question Number : 20 Question Id : 872834775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
It marked price of a book 1s Rs.800 and its selling price 1s Rs.680, then the percentage of
discount 1s
2.¥ P¥e Bred Jo 800 triraher DB P o3P 3o 680 trrabes sond & o8 ol
Options :

e 10%

Question Number : 21 Question Id : 872834776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Formation of water droplets on the outer surface of a glass tumbler filled

with chilled water is known as
S0 J88° VodS rarr ouHd ke I8 Hother MG BBD

Options :



Evaporation
L eEESS0

Melting
L« BDgSB0

Condensation
s » FOBEBe0

Boiling
L x DTG0

Question Number : 22 Question Id : 872834777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Electric conductor among the following 1s
Eod Srrred® Deigs i
Options :

Plastic
. E
1. ® i8S

Pencil lead
, v IO BE

Glass

3ggn'°&}’

Wood
3K
4. ® w...&_

Question Number : 23 Question Id : 872834778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a form of energy
Bod &S EBSErdo =08
Options :
Heat

e 4
w és%%o

Sound
2. % 5

O



TEIHPEI‘EE ture
5 v S0

Light

L% SPO8

Question Number : 24 Question Id : 872834779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The relation between angle of incidence and angle of reflection 1s given by
H855500, HoRHYH e Ko RoogrR) Beopid [Eob >&F LBTHXE

Options :

L n Pt S s
) % i
_ LT # L
4 i = L

Question Number : 25 Question Id : 872834780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements related to the characteristics of air
™ Foyoh Sonohoi) Bod @:@@é{‘ ESTSRNEY
a) Air has weight
o2 HHY &0d
b) Air occupies space
™ Lerd) oEdnod
¢) Cold air 1s lighter than hot air
36 md 208 SeTD SOTHH
d) Hot air 1s lighter than cold air
S0 md Zo8 J&TO BOTHH
Options :

133a.l}.c

) a.b.d



Question Number : 26 Question Id : 872834781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following process mcreases friction
Bod &St e Do (HIEdD
Options :
applying grease to the parts of a machine
ol grrre (e Frabdo

Oiling the bicycele chain
285 35% eond Iahio

Making grooves m the sole of the shoe

- a =
o R ©hrbgrreRl ey ddbio

Sprinkling powder on carrom board

o8 5% o PSS Seko
4. % ® i T i

Question Number : 27 Question Id : 872834782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Silver 1s exposed to air, 1t gets black because of
o8R0 D SNBLy Bod8, ©d Sy rdER8 seEndnd

Options :

v 4825

Question Number : 28 Question Id : 872834783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a chemical decomposition reaction
8o THE* SaS DA $8;
Options :

CaCOy = CaO+ CO,
1. ¢ )



CaO+ H,0— Ca(OH), +Q(Heat energy)

- (838 €8)

S Zn+2Hel — Zncl, + H,

Pb(NO,), + 2KI — PbI, + 2KNO,

Question Number : 29 Question Id : 872834784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Nature of tooth paste 1s
eorS 'EJE &%) Srgro

Options :

Acidic

. 8a) Jgrao
L.

Basic

il
=8 Jegrsio
2.

Neutral

L ééa”’%: Rrarao

Salt

L% ©R AFR0

Question Number : 30 Question Id : 872834785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The process used to separate different colours present in ink 1s called
‘005’ 60 DD Sorhesd IHICHEDE SIEErHE (HBch
Options :
Sublimation
L% adsdo

Distillation

rEso
2.8 &

Condensation
FolbEBemo

3 ®



Chromatography
s v EEPEUR

Question Number : 31 Question Id : 872834786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect pair of brain parts and their functions
B grrren odain T8 DEhe I8z wsEy Hotod.
Options :
Olfactory lobes — sense of smell
(e woflen ~ 08 apeRE S5ysio

1%
Diencephalon — regulates body temperature
L« T8 Bgo - 888 saLIE dckoBoisto
Cerebellum — maintains posture
- N[0 - 488 éeﬁ:@%:a RGBS
Medulla oblongata — reflexes of sight and hearing
Soegdngo — HRHE o V8ERE (@38 SGe drdio
4.v TE v

Question Number : 32 Question Id : 872834787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pranahita wild life sanctuary 1s located i this district of Telangana
B8 o Jod¥m TolEo Boorrss®d % et dob.
Options :
Karimnagar
| % EBOSKE

Warangal rural
|, SoKE 558

Bhadradn
. Feie

Mancherial
L aﬁao{}maf;e:

Question Number : 33 Question Id : 872834788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which disease among the following is not caused by viruses?
8ot =8&° 38Te S Zord o6 67
Options :

Common cold
1. ® 24020

Influenza
, & SOPYTo
Swine flu
GRS

3. % =

Tuberculosis

X
L Eab

Question Number : 34 Question Id : 872834789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identifv the correct sequence of double circulation

Erdodh BE(@Bd8 oY) $B88 (Edrl) HBotod.

Options :

Body parts >vena cava-> right auricle>right ventricle 2 pulmonary aorta

>lungs >left auricle>left ventricle < systemic aorta = body parts

Eb8crrren > RSB > HE LB SHd wBdE > HHI SHdorHo

| ehBB%er > A6 BB > D wELE >5500mH0> 08w
Body parts=> systemic aorta-=>right auricle - right ventricle> Pulmonary
arteries-> left auricle - left ventricle > pulmonary aorta - body parts
FB8zrrren YBEHDTHo> %8 L8 >H8 288 > HHH Fioden>

Ly DED EBE > D w80 S FhderHo> Wgrrren

Body parts—2vena cava—> right auricle = right ventricle - pulmonary aorta

—lungs 2 left auricle 2 left ventricle 2Pulmonary arteries— body paits

$b8crrren > QTS Ben > HE LBE SHE BB > HHID SSodoeHo

B8R > sh E8E & A 2¥dE FDN Fioioen > E68grrren

Body parts 2venacava = rightventricle = rightauricle—2 pulmonary
Arteries2lungs 2left auricle 2left ventricle 2 systemic aorta—> body parts
Sb8crrren > :ae}a’ri’é‘:]é@a > %8 21508 >5%86 égé > DD FHodoen &#edHBB&en 5

. s EBE > ST BB >80 Ho0> E68grrren
4.



Question Number : 35 Question Id : 872834790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The enzyme present in saliva that aids in partial carbohydrate breakdown 1s
3"65 (@8 (208 Soroee) SEE DOTR8 58 Brd ororae JoBD.
Options :
Ptyalin

000D
1.+

Lipase
, BoF
2. %
Pepsin
3 % &)™

Trypsin

4. 8 e

Question Number : 36 Question Id : 872834791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which cell organelle conversion of light energy to chemical energy takes place

during photosynthesis
D Serorreod® 88m iy SodErBah wBrbSi ceo8 48 SaHE FBrr g ymhEod?

Options :
Mitochondria
ePgrolBad

1. %

Golgi complex

™8 Jolo

) ® & ey
Chloroplast

M)
3. "

Ribosomes

BSPE Shen

4. %

Question Number : 37 Question Id : 872834792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The microorganism that does not aid in nitrogen fixation 1s
IR ?Séfdmﬁa DFAHBED "m@ﬁéﬁ

Options :
Nostoc

s
| % =

Azotobacter

w25
2. % =

Pseudomonas
3 & ErED

Anabaena
oshs

4.%

Question Number : 38 Question Id : 872834793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Excretory structures appeared for the first time in
Dgrorrer LTt o He& DY ymzom.
Options :
Flat worms

DRayBorven
v ©

RDUHd WOorins
 1oolissd Dorbes

2.
Insects

3 % Eerzeen
Startishes
550 BE(ren

4. %

Question Number : 39 Question Id : 872834794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the mncorrect sentence from the following
2od 8" 3850 TRy HBood

Options :



In animals the anaerobic respiration leads to formation of lactic acid from

glucose
moBHeS® ozramd FTHBah HEE'E Sod =£E eo D Ger TRod.

1. ®

If the oxygen is not sufficient during vigorous exercise muscles start
anaerobic respiration
TE8E (F $ahod® Sh%0os efymS s B3 Lolve exrad HE8S

- TR OW.
Aerobic respiration occurs in adequate supply of air producing a lot of
energy, carbon dioxide and water
TSNS TRBDHS® ©8% H85rmod® L DbhEe BKos® S B =8)S-
3-8 Tendszeaw.

3. %
Cellular respiration occurs i nucleus, where proteins are burned to produce
chemical energy to do work at the cellular level
Zeo BBahe® BolEkos® aol (FER S0 3od SFaHE FBY &8 Iir
S5Bche dEHron.

4. ¢

Question Number : 40 Question Id : 872834795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the plant disease given in the picture
He06® 2pdd Tk TR HBoBos

Options :
Tikka disease
L f}z‘g Sien

Smut disease

BB Biben
2. ®



Tobacco mosaic disease
- D& Soerons )

Citrus canker disease
B BT g B
. PER s o586 =6

Question Number : 41 Question Id : 872834796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This 1s a kind of dictionary written i Sanskrit
28 oy o & ELON oot
Options :
Ashthadhyayvi
| OELTTo

Amarakosa

) » OBEESD

Bhasa
3. ® Té

Mrichchakatika

o 2
L% éje}‘ﬁﬁ“ o

Question Number : 42 Question Id : 872834797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mehrauli pillar 1s famous for the fact that
DEFD Jogio S T80T (RRHngE SosBohHE)E

Options :
1t was set up by Chandra Gupta-II
- 629 Boks SoESiHEH doTytn DD

1t 1s m Qutub Minar complex
56 HHST DS (Forfeos® 858

2. %

1t has 397 steps
&Q8 397 Foey Zo

3. %

1t has not rusted since 1700 years

K& 1700 Jodsorenrr od &) Eelbletaiiale)
4.+ =



Question Number : 43 Question Id : 872834798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Mahajanapadas. agriculture was managed by land owners called
HFusores® & HErabo TR 4 dbadren
Options :
dasas

| % TR

bhartukas
sdyses

Patla
Ly

Grihapatis

4 v [D&D8e

Question Number : 44 Question Id : 872834799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Nomadic life was led by the
o8 SR HEDLS B

Options :

Mauryans
 FP%oren
1. ® =

Early people

) s SrNayen

Mughals
- Soogoenen
Gupta Kings

4w (08 Traren

Question Number : 45 Question Id : 872834800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most of the world maps we use today are based on
o0 BBFPARE) ©FE [BHos Sires & egrtorr Srgrodolnrron

Options :



Mercator’s Projection
- W08 (HgHeeo

Only latitudes

, x OFOT S|S0

Only Longitudes
2 % OgroTen 3°|S8ad

Contour lines

e SIS Dwen

Question Number : 46 Question Id : 872834801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Insolation 1s the least at
& ([Frodod® irdrpto ©8 SKST BoHid
Options :
Equator
|y S Ty

Tropic of cancer
5@&&35 IS

Tropic of Capricorn
S0¥8 B

North Pole

, ., o8 o

Question Number : 47 Question Id : 872834802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The trees adapt to salt waters in
a5 By adp V8 ofrbmorr iberon
Options :
Evergreen forests
L% RNES ThE iyw
Deciduous forests

v T
) % eoeg) oliyen



Littoral forests
| Sl 855 988 otHen

Thorny forests
S olen

Question Number : 48 Question Id : 872834803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Hyderabad State Nizam rule came to an end on
Tioers oogo & Qo HBFFOE LoSTd B

Options :

26™ January 1950

| w 26 2858 1950

15™ August 1947
15 &9?‘?"@“ 1947

17" September 1948
17 ?0?3035 1948

26™ November 1949
4« 26 SH005 1949

Question Number : 49 Question Id : 872834804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The river Nile originates from
3O 88 @?6&%5?-60
Options :
Mount Kilimanjaro
L% 2DHord S do

Lake Victona
DEPBGEr 05
2.4 ®

Mount Kenya
= g
_— 28y 2880

Lake Tanganyika
4w TFONRE B8



Question Number : 50 Question Id : 872834805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the weaving process “Warp” 1s a
HE Icos® “Hhrd” ol
Options :
Yam
| & T80

tool
, 4 98580

loom
weaver

D =%
4. %

Question Number : 51 Question Id : 872834806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To dig / dnll wells 1t 1s necessary to get permussion from the
FherHe, THod 8508 D8 eHHs EHei=d

Options :

Sarpanch
Stejlols!

Member of Legislative Assembly
TN DY Jghgte

Mandal Revenue Officer
shole Bﬁﬁma [Slalesle

Member of Legislative Council
FTI oD Bt

Question Number : 52 Question Id : 872834807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana State Tree 1s
b Svorrm Tog DY

Options :



Banyan tree

o6 Bew
1. % i
Jammu chettu
228D Té
2.¢ S
Neem tree
3D Bew
3% -
Pepal tree
ool QD
4. 2

Question Number : 53 Question Id : 872834808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following goods and changes in their wholesale rates are included n
wholesale price index
S SHen DBk T8 D $E0s*D SrineH &7 $8e Srdle DA dotrow
Options :

Only capital goods

BemB% ShPen Sr(E

Only consumer goods
DABrH SoPen Sr@D

Few consumer gDDdS
£°0) DG SdHen

all goods

. o) JNPeo

Question Number : 54 Question Id : 872834809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Article 39-A of the constitution of India contains
P88 orasolf 39-2 ©§Esn & 180 BenhHod

Options :

Provision of mud day meals in the schools
ol Sgmim FPado wobosto

1. #



Provision of settlement of disputes through Lok Adalat to the weaker sections

S wored o8 oelrd Sored T $de SBYBes
2. o o 9] o o

The procedure to amend the constitution
oeagoreR) K580 558

The basic principles of India constitution

L% 88 Treoiio Bo¥) SFOE Srlzren

Question Number : 55 Question Id : 872834810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To get protection from fire accidents please call
o) (Hrere $od Bim TPt Tahsodbd §58 Sond

Options :

. 100

101

2.

104

3. %

4« 108

Question Number : 56 Question Id : 872834811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Boer wars were fought to gam control over
60D ©bsER) ot S°0hy ango 8BRS
Options :
India
- FESRE0
Britain
BeS
2. %

South Africa

2 B
3 @ S8 olds



Question Number : 57 Question Id : 872834812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify false statement / Statements related to Gentlemen’s Agreement
2EHHe 2.d0e08 Sowodod) X8R e / rorul HBoNod

a) The existing educational facilities m Telangana would be reserved for the students
trom the Telangana region only.
Boorrnd® o588 &) Doy Foyged Bvorrn Dol Soe|Ead Teran o

b) Sale of government land in Telangana would be controlled by the Regional
council
Beorns (5e0&n g o=l [FroBadh Sozbo Dohol@dnod

¢) The Andhra Pradesh Ministry will consist of 60 percent members from
Telangana and 40 percent from Andhra
o|BHRT Soldhe a;goiﬁo@‘s 60380 Jghgen 8worre Hod 40 T80 ol Kol

SO

d) If the Chief Mimister was from Andhra, the Deputy Chief Minister would be
trom Telangana and vice versa
Swogrsool@ wolF (Frodo Hod &0 eddngrool® Bworren Hod, Jugrol@

Boorrs 09 dodl &5508y500(B eol Dol Gowd
Options :

only d
- d oD

bandc

b S8csn ¢
2.9

a and d
a Sobasw d

3. %

only a
4w A EPED

Question Number : 58 Question Id : 872834813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Zionist movement called to
2T aXio &Y HBod uBAKE

Options :



unite Arabs
oo do Dosne%

build separate State to Arabs

- Slebey @6355 Q) 08 oHe%H

Surrender Palestine
FodTH edfoheD

Reclaim Palestine

A SodTH 88A SrohrH

Question Number : 59 Question Id : 872834814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Objectives Resolution was moved by the Consfituent Assembly setting nation’s
agenda for
oraroll ¥4 agiere Soyeel) SR8 JFore o DGKHER (HaFBoTS

Options :

Population Control
acrye Qabo|Ses

Economic Liberalisation
58858 ©sdTHo

2. 8

Social Justice

P
- TSR :ﬁgdi‘:o

Literacy campaign

oZoE [Bardo
4. ®

Question Number : 60 Question Id : 872834815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Towards the end of the summer season Mango showers are common n
Frredmorr I S0AD $Hohos® Srdd wepen S (Frodos® Hraw

Options :

Indo Gangetic Plains
2o Horr Sowedaoen

1. ®



Himadn
s
Himachal
\ x TERSS

Deccan plateau
5
i 5553_5 DB

Teaching Aptitude
Section Id : 87283427
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283432
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 872834816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements 1s correct?
208 =& DB TG

Options :
Education 1s a science
~om 4
x D8 28 DapdaQo

Education 1s an art
- o

Education 1s both science and art
L, D DepRee(go odabn B¢ Solird

Education 1s neither an art nor science
Dy E¥ =0, depdardo =otd
o =

4. %

Question Number : 62 Question Id : 872834817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Why do you wish to join the teaching profession?
DY Do 8= 28 & Tored Ehdotoand
Options :

Your parents wanted this
| D SR80 ST

Your friends suggested
, 5 & e SrdoTH

No one 1s in this profession from your family
. D Bevondnd® J5Er & HB & T

You have mterest mn 1t
o % EVE° 0% s0d

Question Number : 63 Question Id : 872834818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Teacher’s primary duty 1s
SFTaod (FEDE 9B
Options :
Prepare students for examination

DeerBresd $65e% I et Do
1 &% [~] - [=]

Lay foundation to students to take up a career
5« DogHe a&5eR) oserdd DT

Maintain discipline in the classroom
| BB18 586" Ehegn B8 Erosto

Make learning meaningful
v o0 wSodo Babeo

Question Number : 64 Question Id : 872834819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While teaching a lesson. 1f some students are talking among themselves.
the teacher should
o) SO Fosd Dogiien SrriEr Goll, earETain

Options :



Stop the lesson and ask students what they are talking about
FoQ) od © dogher B0 K80 SrtpheHTHE ©imrd

Ignore their talk and go on teaching

, 70 Rogrsieso é@o:ﬁ:&'&t‘oow o somd
2.

Scold the students who are talking
Srerl Qrgier HosDomd

Keep silence for a while and continue the lesson

2a2H 0Frd) ardod aroel) E¥arAomd
4.4 "8 @ =

Question Number : 65 Question Id : 872834820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Essential quality of a teacher
éé‘%cﬁw@ﬁs SHRVI8™ BolSOVY X0

Options :

Should be learned person
, ENDHoRES 5

Should be neat and clean
_ DI 8w DlForr somd

Expert in subject

v FAPSTony) e.sg;?éoéﬁ g)%;é:@ Bod

Have patience

éutﬂ:;j DA dosd
4, ®

Question Number : 66 Question Id : 872834821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Important quality of a student, is to be
. @ o -

amﬁg@‘ SOLHOVY Byl ©Xeo

Options :

Hard working
L56T $&0 Lot

Independent thinking

, o SBold ebhSE Hemt



Humanistic
DeNNES B

3. %

Obedient
DB0HE Eod

4. %

Question Number : 67 Question Id : 872834822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most effective learning 1s
e (Dekos TR @ﬁf&é&o
Options :
Rote learning
m% 0308

Group discussion
g o
o 58

ICT enabled learning
ICT $5fahos® o3

Experiential learning
OFIFT, ©F E:éﬁo

Question Number : 68 Question Id : 872834823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teachers relationship with students should be
33@5639.}55 Es&m‘;cﬁw?\}& Botdedsd Somodo
Options :

Empathetic

NDeF0soed
1. ¢

Friendly
TR

-
2. % o o

Sympathetic

TS
3. %

Punitive
50(‘5@6&5
4. %



Question Number : 69 Question Id : 872834824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The syllabus of out-of-school children should essentially consist of
FETOEE Dergie &8 (856" BosHOBS SwayTosd
Options :
Literary competencies
, BEoE %‘@U&;&D

Life skills

L E58 DPeazgen

Numerical competencies
©OoZe &;ﬁm&)w

Vocational competencies
[
Lo DB HEHS ibogen

Question Number : 70 Question Id : 872834825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is necessary, to raise the standard of education
Doy [Bereren oS8 2 8380

Options :
Evaluate students continuously
| Do RoEso Sremols vty

Pay high salaries to teachers
- ﬁs&@c@cﬁw@ 880 DEND Sleveitd

Revise curriculum

L x 2Oy (Be=BE Srony®

Provide good infrastructure
00D Hy FSERR oo BT

4.%

Question Number : 71 Question Id : 872834826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The process of observing, recording and redirecting or correcting students behaviour
when necessary 1s called

D8 (H58H0 $8D0N, ST T ©ITELBYED DX (B8S0 Tor 3580 (HEW
Options :

Learning

L x ® rRdo
Mentoring
_— bosrBon

Monitoring
3 @ SQe80oh

Planning
L (5283

Question Number : 72 Question Id : 872834827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A plan of action prepared by a teacher for a particular class and period 1s
2% QB 5158 DB HEAED BainG St IS SomEE B
Options :
Unit plan
| % GhrRE BEo

Lesson plan

8 D8k
2. -

Teaching plan

58 HE%o
3. %

Project plan
, « DEYT HFto

Question Number : 73 Question Id : 872834828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If you make a nustake n the class, the most appropriate course of action would be to
S81K8S° DS SR =BASHD, SoeId S
Options :
Forget the nustake
| S3pR HESwO



Ignore the mistake
_ EZPR YBosko

Convince the students

Qe SF) IYLo
3% oW

Acknowledge the nustake
S50 aBpESto
4.

Question Number : 74 Question Id : 872834829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mid-day meal was mtroduced to
e == Mo (AR T
ﬁwﬁa& o350 Do (B38 o}&;wéo

Options :
E]lCOlll’ﬁgE attendance
- St (@5 drotheod

Provide nutritious food
— el o »
- il“%}.; Fo gi}goiﬂ:éa..o

Create employment

B85 rren HRhohed
3. % = e

Utilize local resources
55&'05 wathe ThE %

4.%

Question Number : 75 Question Id : 872834830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The purpose of co curricular activities i school 1s
FETOE” B 8 (HerRE afdEn

Options :
To boost selt-confidence of students
L w 8@568969 @é@ LG EFSEVOINY OO 0%

To enhance competitive spirit among students
- a’)mg%@é‘g 2 DSKE=R) DoHeD

To enrich learning experiences of students

DeeHos® wirdd ool ©d%o Joned
3. - =



To provide relief from rigour of academic work
D B é@’)é H00d) BHEHR0 EDRoHLHD

Question Number : 76 Question Id : 872834831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A student learns better if he 1s
Do BBore IS K GpLod
&) 0 )
Options :
Taught m his mother tongue
| % SR $°HolsEpH

Punished for his errors
ZHS ééo)ﬁ@fi} BoboddHth

2. %

Given strict coaching
PSS BFre aORHD

Respected for his Practice
oEd FEIDH TEDoLRHH

Question Number : 77 Question Id : 872834832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The real goal of education 1s
DB Dazgd Naboro

o S o
Options :

Securing diploma or certificate
&ersr o $PYSE oo

1. ®

Acquiring knowledge. skills and habits

R0, JaycFeren, wearty wboddio
2. o = a o

Mastery of subject matter
DHcHos® e=eago

3. %

Traming to make a living
$DoBerd8 8%
4. % =

Question Number : 78 Question Id : 872834833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The most important challenge before a teacher 1s to
ﬁ@“@‘écﬁ.}:& S0oHF) 08 JwgrFhd Soren

Options :
Engage the class
| SBHBR 306" dHifjo Bowoisto

Mamtain discipline in the classroom
L x B818 KBS® (KD 8%md SBosbo

Make teaching learning process enjovable

- 555 o8 (BB edolmrabio Do

Conduct examination
$56%en G Erote
4, ® =

Question Number : 79 Question Id : 872834834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How would you make your students independent
D5 d a')mééoqa:c‘éa QrSolBorr der B8
Options :
Give responsibility to everyone
L (B8 2588 rgden el)fod)

Giving orders and expecting obedience
adtres =6 3%, DgEH vdod

2. 8

[gnoring their petty fights
. T8 0% Pepten H&oh ES@8S5e0

Solving their problems for them
=8 [ 78 P55 HB8od

Question Number : 80 Question Id : 872834835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To ensure participation of more students in the class, which method of teaching you
would adopt
88186° DS Dorgtien AForr STRErE. DY O SEe SE8D odwoDoBED
Options :

Discussion

w
B
| t.}éh.



Recitation

Zoddo
2. % ®

Role-play

i

|, Bos- @B

Demonstration

BEETS
4, %

General English

Section Id : 87283428
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283433
Question Shuffling Allowed : Yes

Question Id : 872834836 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)



Read the passages given below and answer the questions that follow.

Some of the earliest diamonds known came from India. In the eighteenth
century they were found in Brazil, and mn 1866, huge deposits were found near
Kimberly m South Africa. Though evidence of extensive diamond deposits has
recently been found i Siberia, the continent of Africa still produces nearly the enfire
world’s supply of these stones. The most valuable diamonds are large, individual
crystals of pure crystalline carbon. Less perfect forms. known as ‘boart” and
‘carbonado’ are clusters of tiny crystals. Until diamonds are cut and polished. they do
not sparkle like those you see on a ring — they just look like small, blue-grey stones.

In a rather crude form, the cutting and polishing of precious stones was an art
known to the ancient Egyptians, and in the Middle Ages, it became widespread m
north-west Europe. However. a revolutionary change in the methods of cutting and
polishing was made i 1476 when Ludwig Van Berquen of Bruges m Belgium
mvented the use of a swiftly revolving wheel with its edge faced with fine diamond
powder. The name ‘boart’ 1s given to this fine powder as well as the natural
crystalline material already mentioned. It 1s also given to badly flawed or broken
diamond crystals, useless as jewels, that are broken into powder for grinding purpose,
the so-called ‘industrial diamonds’.

Sub questions

Question Number : 81 Question Id : 872834837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Since 1866
Options :
most of the world’s diamonds have come from siberna.

., all the world’s diamonds have come from kimberley in South Africa.

, » Affica has produced nearly all the world’s diamonds.

L diamonds have been discovered in most parts of the world.

Question Number : 82 Question Id : 872834838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
. ;3 ;
Carbonado’ 1s the name given to

Options :
.. only the very best diamonds.



- lumps of pure carbon.

S Spanish diamonds

i diamonds made up of many small crystals.

Question Number : 83 Question Id : 872834839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After a diamond has been cut and polished. it
Options :
|« looks like a small blue pebble.

, » looks very different from its original form.

| w Canno longer be used fo put in a ring.

4% changes its chemical composition.

Question Number : 84 Question Id : 872834840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The art of cutting and polishing precious stones remained crude until
Options :

L the fourteenth century.

-~ the fifteenth century.
the sixteenth century.
3. %

the seventeenth century.

Question Number : 85 Question Id : 872834841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Industrial diamonds are
Options :
N made of a different substance from real diamonds.

not as sparkling or brilliant as ‘boart’.



made up of diamond dust and broken crystals.
3. ¢

L produced artificially in factories.

Sub-Section Number : 2
Sub-Section Id : 87283434
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 872834842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 1diom ‘To get m hot water’ means:
Options :

|« to get mto trouble

to enter waters heated by the sun

to be m a confused state of mind
3 %

to drink hot waters

Question Number : 87 Question Id : 872834843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sidharth thought that his teacher was not happy him. Fill in the
blank with correct preposition.
Options :
., about

- with

3 % over

488t

Question Number : 88 Question Id : 872834844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pick the most suitable word to complete the sentence.
1s too much official formality

Options :



Delaved
. 3
. Officiousness
, Formality

Red tapism
4

Question Number : 89 Question Id : 872834845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with appropriate verb form.
Kendriya Vidyalayas geared towards development of
education from their inception.

Options :

| has

, % have

_ has been
3 %

L have been

Question Number : 90 Question Id : 872834846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Some snakes look innocuous but are in fact poisonous.
The meaning of the underlined word 1s

Options :
v completely harmless
L )

, « completely detrimental

- overwhelming

causing harm

Question Number : 91 Question Id : 872834847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Dosa 1s my favourite food. The sentence 1s

Options :

- mperative

exclamatory

3 assertive

, » Inferrogative

Question Number : 92 Question Id : 872834848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“MCH will demolish all the illegal constructions”. The passive voice of the
senfence 1s

Options :

- All the illegal constructions are demolished by MCH.

S All the 1illegal constructions may be demolished by MCH.

. All the illegal constructions will have to be demolished by MCH.
3.

v All the 1llegal constructions will be demolished by MCH.

Question Number : 93 Question Id : 872834849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you pay tax on time, vou spared from punishment.

Options :
L will be

shall be

2. %

3 % shall

4 x will

Question Number : 94 Question Id : 872834850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Sheela said ““The programme ended yesterday.” The reported speech of the sentence 1s
Options :

- Sheela said that the programme had ended vesterday.

Sheela said that the programme ended the day before.
2. 8

v Sheela said that the programme had ended the previous day.

L w Sheela said that the programme ended already.

Question Number : 95 Question Id : 872834851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence.

Options :
. » How long have you been jomed this school?

, « When have you joined this school?
- How long are you joined 1n this school?

4 = When you have joined this school?

Question Number : 96 Question Id : 872834852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I cannot the meaning of what you said. Fill m the blank with

appropriate phrasal verb.
Options :

L make out

, » make of

make for

L make up

Question Number : 97 Question Id : 872834853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Find the correct spelt word.

Options :

_ Adverisity

1. % -

Advercety
Adversity

Advercity

Question Number : 98 Question Id : 872834854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the antonym of the word ‘repulsive?

Options :
Lo Afttractive

, % Smooth
; «» Reflective

, » Distinctive

Question Number : 99 Question Id : 872834855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill the blank with correct word.
After playing in the hot sun Ranjan got

Options :

| % Nnervous

exhausted
)

; « tempted

, » electrified

Question Number : 100 Question Id : 872834856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Suyjan 1s the boy m the class.
Options :

L smartest

) % more smart

“ simarter

., Smart
General Knowledge and Educational Issues

Section Id : 87283429
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283435
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 872834857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The book ‘Playing it My Way’ 1s written by
Rowofi =S B & (‘Playing it My Way’ e (Sogel) 300258
Options :
MS Dhoni
| 20.90 &%

Virat Kohli

) % D=8 EE'?;J;

Sachin Tendulkar
- peLAlS] EOC{Q"B&S

Rahul Dravid

, w T8 (D&

Question Number : 102 Question Id : 872834858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Union Finance Minister Smt. Nirmala Sitharaman declared year 2022-23 as
Zols ol@ B8 Ve deroeHS 2022-23 SodSooR)
Options :
International year of mullets

L @oéc;écﬁ: DorTge Sod&Borr (HELomTth

International year of fruits and vegetables
@oéc;écﬁ: ErSrraben HBdin Dof SodgBore (HELomt

International year of pulses
@oéo;@ciﬁ: Dy Bde JodSBorr (HELoot

International year of plant health
@oéc;éofo Sne @551’13 Sod&Borr (HEdom

Question Number : 103 Question Id : 872834859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
International Olympic Commuttee has confirmed the addition of the following
as official Olympic sport
@oé‘éc;éoﬁ: 2.00%E %808, e&orr & E5H 0885 cDobE &b cﬁggbﬁaoa‘é:
Options :
Archery

- S)wﬁ)eﬂa

Break dance
, v BE =8

Soccer
o
s x vatale]

Volleyball

, x TOTS

Question Number : 104 Question Id : 872834860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Kailash Sathyarthi was awarded Noble Prize in 2014 tfor his contribution to
2ol B8 T8 S Y2 2014 & TBS 250HS ©Pod
Options :
End child labour

- e oy el o e
o TeThE HEH% wodo Daho



Find world peace
)« BB0S T0BR BB

Protect environment

4 o1
3 % aacgaﬁeﬁm 63*59

Women empowerment

e FOHEE
4. %

Question Number : 105 Question Id : 872834861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The present Governor of Jharkand 1s
H0b (DE 1S5S
2 —= o
Options :

Draupadi Murmu
. B suey

Ramesh Bais
=
, o SR BS

Hemant Soren

TeHo8 VS
3 &

Ved Prakash Marwah
, 38 (HoeE Sl

Question Number : 106 Question Id : 872834862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The person who 1s called as Kavikokila 1s
COEP2ey @ DB HenFe®d
Options :
Sarojini Naidu
| % 08°2R Traswd

Ravindranath Tagore
, » 8DoETE Tt

Devulapalli Krishna Shastri

. 3o 51 TR



Duvvuru Ramireddy

. oo m@oﬁ%

Question Number : 107 Question Id : 872834863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Indian state that celebrates the annual festival ‘Chaitra Jatra 1s
B 88 o Dol BB oo
Options :
Odisha
1.+ B

West Bengal
, » 0% Borrd

Andhra Pradesh
; & ol ($BS

Telangana
S0orren

Question Number : 108 Question Id : 872834864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Central Rice Research Institute 1s situated in

oS BS 6:58) aSpeeed (Central Rice Research Institute ) 2% od

Options :
Chennai

|, % o2
Cuttack

ey

Andhra Pradesh
s x LOE BBE

Gujarat
L% omTeE

Question Number : 109 Question Id : 872834865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following river originates in Brahmagiri range of Western Ghats
DY BoDeS [RING B SIS @Sogadiy ¥8
Options :
Cauvery
5°a3B
1.+

Thapti
S8

Krishna
s« OB

Penna
'Ebécl

Question Number : 110 Question Id : 872834866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Jammu and Kashmir Reorganisation Act 2019, the total number of members
in the Legislative Assembly of UT of Jammmu and Kashmir shall be

22e39) S8k ?%&5 9% EZ8e Sbo 2019, (H==8o Sol DS (FroSTo¥ iy SHBAW
s‘%éE TR0 B Jghge Fngo Sogy

Options :
90

1. ®
, % 98

106

3. %

4 v 107

Question Number : 111 Question Id : 872834867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The railway station that has the shortest name in Indian Railways 1s
TEET IS’ ©8 ) DB Ko B RIS
Options :
BC
L x 93

Ib

2\ya:5



Goa

Pune
4. % A

Question Number : 112 Question Id : 872834868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Garam Pani Sanctuary 1s located at
%o &8 eFdrdeo a8 6B
Options :
Diphu, Assam
L &9, om0

Tunagarh, Gujarat
) % @RS, haoes

Gangtok, Sikkim

| = on
- rP@oHéa,.a, Slajle)

Kohima, Nagaland

, w E8red, orrrerod

Question Number : 113 Question Id : 872834869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The person who 1s known as the “Saint of gutters’ 1s
onotd e ﬁ%ﬁn}’ o DBY wotrd

Options :
B.R. Ambedkar
- 8. 8. &905653_5

Baba Amte

-
SPLE @350
2. % e

Mahatma Gandhi
s 5 DI rob

Mother Teresa
4 v &G oI



Question Number : 114 Question Id : 872834870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 1s used in pencil

25 BaES° DOTrAOTH
Options :

Silicon
| O0=S
Graphite

L

Phosphorus
L
s ) qjén}

Charcoal

4. % ﬁﬁr‘?

Question Number : 115 Question Id : 872834871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first Law Officer of Government of India 1s
TESTE TS (Hhe T8

Options :

Union Law Mimister

S0l TohT shol@

1. ®

Chief Justice of Supreme Court
Sobo B (Heed mabdor

Prime Minister
(Sed oold

Attorney-General of India

i Guadels e;'ae.?écl 2588

Question Number : 116 Question Id : 872834872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the latest UGC guidelines, the number of degree programmes a student can pursue
simultaneously 1s

z oin. 8.5 (UGC) Srgstisre (Hsebo af doyf dsreod® S65He &if @FmSe Song

Options :



Three
L% EVVvilab)

Two

[alelnb)
2. ¥

Four
3 % e

One

e
cus

Question Number : 117 Question Id : 872834873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A National Mission on Mentoring 1s proposed by
T Eew SrgEEy &S (National Mission on Mentoring)R (H8a-80086

Options :
National Education Policy 2020

| o =8 Sog dpedo 2020

National Policy of Education 1986
=805 Yoy Do 1986

2. %

Secondary Education Commussion 1952-5:
5 x %080 Doy SRS 1952-53

o

Kothar1 commission 1964-66
o8 280AS 1964-66

4.%

Question Number : 118 Question Id : 872834874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which ONE of the following statements 1s false with regard to RTE Act:
% (Bod 86 Do Ty SerRE Jonofodl $o8==R &zl hiosod.

Options :
The RTE Act bill was approved by the Cabinet on 2" July, 2009.

Do FE S0 Dend =TS 2 =8 200985 «ZrBodod
1. ® = & e ~ o =



The bill was passed on 20® July 2009 in the Rajya Sabha and on 4™ August,
2009 in the Lok Sabha.
20 228 20098 oreyy 5¢ BAk 4 iy 20098 &5 35 © Depd wIrdoTow

2. %

3. %

The RTE Act bill received presidential assent and was notified as law on 3™ September, 2009
as the Right to Free and Compulsory Education Act.

Dorg 5, 15%0 Den c@é&@ axrso 3 ?o_:'ﬁoa:E 20098 £ro0d D& Hddm ?U:%oeﬁ Do FoEn

o &
Shorr (HESoBERs.

The law came mto effect in the entire country, including the state of Jammu
and Kashmir, from 1% April 2010.

, F ko, 1 DBS 2010 Hrob wdn) 48 &° 3 Ingo F¥oE® vHens®d $Yobd
4.9

Question Number : 119 Question Id : 872834875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per Operation Black Board (OBB) norms, the percentage of women teachers
for elementary schools would be
©HBES o ﬁsg (Operation Black Board) dmo&de ($=8o, (&r5dE Srdwod
20 DohHeds DHire adrgrdve TE0
Options :
33%

1. ®

Question Number : 120 Question Id : 872834876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The UN World Humanitarian Day 1s celebrated on
(B0 SrdSsEH B EBo DI S
Options :
August 9%

it 9
1. % [§]



August 19
s 19
v 3]

August 20™

e 20
3.8 =

August 29"
ey 29

4. %

Question Number : 121 Question Id : 872834877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Academic calendar is prepared by

Qs 8L SBos6 (Academic calendar) S Saird Dokods
Options :

Mandal Educational Officer

oode Do
1.+ =

The DEO
, w B doph=d

The school
3. % &6@@

SCERT
L. TBO $58-8°%5% 8% Sog (SCERT)

Question Number : 122 Question Id : 872834878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s not a career stage proposed by the current National Professional
Standards for Teachers (NPST) document
eargedine =8dD 8 ©Srere BEo (National Professional Standards for

Teachers)s: (Eod 83 H8 &I [HSFBOLTD
Options :

Beginner Teacher
| n (=S08s &a&wgcﬁm‘i&

Leader Teacher

; o
Vv &é‘?ﬂcﬁa Evaleuhicolnt)



Proficient Teacher
QepHED BErrdinD
3 %

Expert Teacher
De0@® ﬁa&w&cﬁmiﬁ;

Question Number : 123 Question Id : 872834879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under NEP 2020, the current 10+2 scheme would be replaced by

=805 o Do 2020 (Ho=do, [Hhs 10+2800m8) &0 oo §8 Debnbss
Options :
L 5+3+3+4

5+4+3+3

L% SH242+4

Question Number : 124 Question Id : 872834880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mitiatives of MHRD that gives guidelines for Digital Education 1s
s SN ©did Dol Ty 5&5%% Gzd Dy Srdstsre sEyEdo
Options :

| x SWAYAM

, » EQUIP
 SAMARTH
3. %

PRAGYATHA
4.

Question Number : 125 Question Id : 872834881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Learning without burden’ 1s the recommendation of
TE0 B oS o Srid v Sod:
Options :



Yashpal Committee
| GHES S0

Janardhan Reddy Commuittee

S BE XDd
2. % [} (i}

Adisheshayya Committee
| BT Z0d

Eshwari Bhai Patel Comnuttee
o« SEB row HBE Lol

Question Number : 126 Question Id : 872834882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The organization that supplies hand books for teachers 1s
Sargridined 86250 wodod NICES
Options :

. NCTE
2w RIE
, « CIET

, « SCERT

Question Number : 127 Question Id : 872834883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per NEP 2020. Vocational Education starts from
aBA% Doy Qo 2020 (H==vo, I)Ejé 33655 &S S518 ol TuBes)Hod
Options :
Class 5
|« 5% S6i8

Class 7
L 15 S6158

Class 8
83 S8K8

3. %



Class 6
| o B 8558

Question Number : 128 Question Id : 872834884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
National Curriculum Framework 2005 strongly recommends that teaching of
EVS in primary schools should primarily aim at
=80dH Doy (Se58% S|o 2005 TS FEPS SIS (Hoobo (BEDE FBTed
Dot eifddo @) (@Y oXo

Options :

Linking classroom learning to life outside the school
818 118 odTQ) SEe Iensd 200208 wdorrdo Tabdo

Memorizing the basic principles of EVS
Ho=des eifdvo FTOE SrlEreis 5&&?&&0

Acquiring skills related to EVS
ESlopiratel:d @ﬂféﬁﬁﬂ&)& Ro05odd FHesed FBoSso

Learning a subject related to the environment
Soepterdl Somodod a¥ ard Hhcho SenEistio

Question Number : 129 Question Id : 872834885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Education and socio-economic development are
DS SoBAW FSreRE - @E::-P?,JESJ&:
o @ @
Options :

Not related in direct proportion
0655 oddrdo &8 solyH

1. &

Related m direct proportion

) & efdrdo &° aotrow

Sometimes related and sometimes not related

. Q) ) Sowogo aotwod, Q) FE Somogo doii
3.

Not at all related
4 % ©Re SowoFd B



Question Number : 130 Question Id : 872834886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

National Literacy Mission was started 1in
=80%H FESE DET  (FSoDobnbs HoSSBo :

Options :

. 1986

L« 1987

. 1988

s« 1989

Computer Awareness

Section Id : 87283430
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283436
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 872834887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which among the following 1s used for removing a software bug / defect
which 1s available for free of cost from the software provider?
Sig)eoeeoi SEQ DE=Dotheth Sytheror HBHY Do eddorr aes?
Options :
Version
o
Update
_— ohaes
Help
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Question Number : 132 Question Id : 872834888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU means ?

0. 8. 0w ol
Options :
Central Processing Unit
- Zolbadh Lo Do
Central Primary Unit
Zolbadh ([BrE0% Do

Control Primary Unait

- Qodbolges (s Dariio
Control Processing Unit
Dado|Bes Sodoed Qeriio

Question Number : 133 Question Id : 872834889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the name given to the technique of connecting computers?
Zosrtbok £803 Sronax B8R Deortd?
Options :
Node
| x &8

Topology
- SFroR

Architecture
@6@&35&5

3. %

Ring

4. ®



Question Number : 134 Question Id : 872834890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What do we call the time it takes for an entire message to completely arrive at
the destination from the tume the first bit is sent out from the source?
2% 78 & DT Kool KSRy TooE BB HE SKoarR) Doertn?
Options :
Propagation time
. (BERES ssbabo

Turnaround time
- &5&@8‘05 [Socdho

Latency
- S8

Throughput

W, o
L éej-o@m

Question Number : 135 Question Id : 872834891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following represents the Transmission time?
Bob T&S® (HFE $irQ) DB Hrdios?
Options :
Message size/Bandwidth
o= H8%rmo /ao&dE

Message size *Bandwidth

To° HBSrmo ¥ aroBRE
2. % ~ =2

1/2 (Message size/Bandwidth)
1/2 (=m0 $85r0/a0G0E)

*(Message size/Bandwidth)

"
L 2 ¥ 5850 / oGOE)

Question Number : 136 Question Id : 872834892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of these software 1s necessary to view web pages on the internet?
©odreo P IT DRV SEHbD ©SHEHS Syherorio 28 ?
Options :
Web mail
| x 2D oS
Web Browser
, o 28 [Feb
MS Office
- = =
_— Qe e e;'ag:fo
Flash Player
= =
4. TE RE

Question Number : 137 Question Id : 872834893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the maximum font size available in MS Word from the dropdown list?
D AV 5§ & (@8 TS L &° 088 §oif $Brmo Jod ?

Options :

L% 36

, x o4

5
s 12

Question Number : 138 Question Id : 872834894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CSS used for?
2.28.28 308 aBdBEATS ?
Options :
Website designing
SDRE BrdEedH

Software development

- éoe}cﬁw‘oﬁ &:@5’@%&



Android App development

& aird 568
. (Ele][muewy D s

Spreadsheet
N0

Question Number : 139 Question Id : 872834895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The operating system is the most common type of
Desees S5 OI8 ©f Joedes
Options :
Communication software
Srerd dy)therorio
1. ®
Application software
, x ORIYR Hyherorio
System software

v clolg yeroiio

Word-processing software
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A device which can be connected to a network without using cable 1s called
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Open-source device
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This primarily takes care of behind-the-scenes details and manages the hardware.
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A compiler which runs on one machine and generates a code for another machine is
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Personal computers can be connected together to form a
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An error i a computer program is called
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The simultaneous transmission of data to a number of stations 1s known as
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All the deleted files go to
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Unauthorized copying of software to be used for personal gain mnstead of
personal backups 1s called
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Collecting personal information and effectively posting as another
imndividual 1s a erime known as
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Rules for exchanging data between computers are called
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The ability to easily add additional users means that network 1s

©555) DAErHTHed Dedorr &°803 &a"’ng&o @08 © 3&553537
Options :

Secure

e
| ® QoBES0
Dedicated

, » wofdo

Decentralized
, x D2o[pEde

Scalable

L SRSV Tt



